EARAROBEEIERT — 2 N— IBISH —F

2012910880 (B) 4EI=#R3H

Bl =522 G2 vSR3st @R Ggn) e BT
[A&4] 1 7 60,000,000 § 2 7 :24,000,000 § . 3 37 :15,000,000 @ 4 & :9,000,000 @ 5 j& :6,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s e HRFH— :23. -12-10- . . TFEZ (ER)
i lgl1a| x 1 amniy # 5 s 2(2_3)4 12-12-10-9 | 34.6 | 109.1| 5 (434) ElEe
R:TS27L 48— B:ALYLTNERZR = re]
- R ) g5 _ _ BEEEE (ER)
2 9| YT TI—21 7 o 2(72?:> 7-8-5-3 | 35.2(109.3| 7 (atff) I
R:TwINEry b BN —YaA J—¥rTp—L
. e 4 | AHEEH 2:23.5 7-6-3-1 |35.3(108.3| 2 196 | mIEZ (ER)
sPl6 | F228-9051 ¥ 570 @) o) | 0B HEL=xA-X
LN=v774 B:77EZXZ774> HET7—L4L
S N REEN : ~10-8- AHE (EX)
4 NEEVEE DN it 6 e 2(/3%5 11-10-8-6 | 34.9 | 108.1 | 1 (4;4) haa
R:w>NnNygrhH7r B:dravMav—I> Y a—TJr—L
i # 6 | N. E>F 2:23.6 9-9-8-10 |34.9 | 107.1| 10 | 490 |itiIZEFH (E®)
51813 7T v & T 56.0 (1/2) © SFAAANT (LT ()
RHLRA L=y BITIIN— =¥ T — L
RN 45 | AKX 2:23. 6-7-6-6 | 35.0 | 107.1| 3 470 | FBOBLRER (=)
6|5/8| - AF¥THL 57.0 (") 2 | B FeF-L—svy
X2 ThANXN B:O—-X/NK J =Y Tr—L
5 4 > 44 | EALFEX 2:23.9 5-5-6-5 | 35.5|104.2 | 11 456 | KASREERS (FH)
717112 ESRI7ET N — 56.0 (1 3/4) (+8) (%) ?FEEW%
L:T7NhtEy b By bLbEJ FHBSE
= BEREET : -13-13- EKEBN (BER)
8 5| ®@THZERXT 1 — (B8] i 5 s 2.(264).9 13-13-13-11] 35.2 | 93.3 | 6 (i?i) ol
R:itr/n7oqd BiHIERYA v F WHE B
> # o5 | fEKHE— 2:24.9 2-3-3-2 [36.7] 952 | 4 482 | PRRE (BR)
o 2| YVAHERILE 56.0 ) o |PEEE @)
RixALI=ZTr—R B:INIA fisike]
. ¢ : Ho4 | JIBERE 2:25. 1-1-1-3 1 36.9| 94.4 | 9 524 | RIEBEN (BR)
10 3 Ly 7 RINL— R 56.0 (2 E) ta) | B) FrOyrTw—L
R:A—J XA A4 B:14>F118L—K BRT7— L
. . . HALEAT :26. 02— . . KILIRE (E#
17l @7525y K 4 8 o 2(276>l 2-2-2-6 |37.8| 85.3 | 13 (4&0) FEEE
v IRy b BiaA—-LExIY > ek ke
3 Q[ = 4 6 | BEHEfRZ 2:28.2 10-10-11-12| 38.5 | 67.6 | 12 | 516 |&FBT (FF)
120111 TvF—"1F7F 56.0 (21 ) (+14) gﬂiiiﬁ%
LV RKYJUXIR BNKT ESstae]
S # 5 | FIEEZ 2:42.1 4-4-11-13 | 51.0 | 17.3 | 8 468 | BAEHER (EH)
13|57 JXRETELZ 56.0 (21 4) (-8) '_Eg) év’fl/v K77 —1L
L:O-—J X124 B:evvhavsr EvilLy RT7—L
9 . e - - — | = | = | = [+t @ER
»+EQ10 E-FTZv 7T "5 %0 (BGE) (—) |FIEEA
R:IZXF YR B:TI—LA—I J—RENXTZI ALk
@ 21 L
£y 47.4-35.3
NO>24 L | 12.6-11.0-11.2-12.5-12.2-11.7-12.3-12.5-12.1-11.4-11.6-12.3
® I—F—@EBIERL
15=2r= 3-(11,2)7-12-8(6,9)13,1,4,14-5 10
23=7F= 3,11,2-7,12,6,8-9-13(1,4)-14-5 10
== 3,11(6,2)9(8,12) (13,4)14-(1,7)5 10
43—+ — (x6,2) (3,9)12(11,8,4)14,13-5-1=7 10

ABICOVWTRDTEEERROODE. TR LIV,




